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COMMERCIAL MATHEMATICS
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Pass Marks : 30
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The figures in the margin indicate full marks
for the questions.

Q. No. 1. ‘ 1 mark each 1x8 = 8

Q. No. 2 2 marks each 2x5 = 10
Q. Nos. 3-7 3 marks each 3x5 = 15
Q. Nos. 8 - 14 5 marks each 5x7 = 35
Q. Nos. 15-18 8 marks each 8x4 = 32
vTotal =100 -
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1. Answer the following questions as directed :

(@)

(b)

(©

(d)

(e)

30T CMST

On what condition AUB=ANB ?
F5és AUB=ANB?

3% . 7
If ‘=O, find x.
3 3

=0, Rdfa =t x.
5

3x 7'

If 7P =2520, find .

Ift P, =2520 =7, (oEEE r I WA [T w4t

1x8=8

Find the number of terms in the expansion (5x-2y)’.

(5x—¥2y)7—€ (330 ;WWQ%RNI

Find the mode of the following distribution :

Oed 9B 9% FefT 0 8
7,9, 10, 8, 9, 11, 6, 8, 4, 9

Fill in the blank :
AT 12 279 I 3

AM. xHM. =

AT Y x T qY =

[2]



(g) If S.D. of x is 5, find S.D. of 3’5+1.
A X3 TS Roem S =W, S -§+1amﬁwﬁ5@r?

(h) What is the minimum value of the probability of an event ?

<GBl ToN AR I Tow [ T+ e

2. Answer the following questions in brief: 2x5=10
HYLF ©FG (RO TGS WAl ¢
(a) Express {-1, 1} in the set builder form.
{-1 1} = wefes wors forat

(b) In how many years S.I. on Rs.5000 at the rate of 5%% is
Rs.11007?

(32 IS 5%% TIS 5000 T G S 1100 Tt 22

(c) Using property of determinant prove that

2 1 -3
-4 -2 6 |=0.
3 0 2

Reffae «f ac@sr <[ o9 = @

B .1, =3
~4 -2 6|=01
3 0 2
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(d) If 25er = 25C2r+1’ find rC3'

z]ﬁ 25Cr = 2502,.._”_, rCs ﬁcﬁ Wl

-(e) If AM. of x-6,x-3,x+3 and x+6 is 10, then find x.

] x-6,x-3,x+3 JqF x+63I AT 10 T (T xI I [T =41 |

3. The difference in simple interest on a certain sum of money at
14:5% p.a in 3 years and in 4% years is Rs. 696. Find the sum.

3

AR 14-5% TS (IIEN TR 3 INO IS 4, IT© F776 Jod AN 696
Bl | egn Fefa =t

4. Draw the graph of the inequality : 2x-y <6. 3

T ORI T3 2x -y <6
S. If nc0+ nC1+ nC2 =4’, find n. 3
nﬁ nco+ncl+nc2____4’ nﬁ‘-‘ﬁTWl

Or /g2t

In a small town there are five schools. In how many ways a father

can send his three daughters so that two of them cannot study in
the same school ? 3
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QYN BIS 5 I FE IR AT TR (ST 3 Tl (RAAIS (FRYSA Folee
SAfFAR +ANR TS Bz yom G TS S5 @RIE?

y 9
6. Find the term independent of x in (Qx—s%) . ' 3
X

e e [REige x 99t omosl [d =101

Or / 94qt

Following is the height (cm) of 11 students. From this determine
quartile deviation. 3

124, 127, 126, 123, 127, 129, 125, 130, 132, 130, 121

TeTe UIETH B9 el (24 ©) [ Szl O SR o vpdied [Reew e
411
124, 127, 126, 123, 127, 129, 125, 130, 132, 130, 121

7. What are the essential qualities of a good average ? 3

ST Sl (AFRIRR T =41 |

‘8. A limited company intends to create a depreciation fund to replace

at the end of 25th year an asset costing ¥ 2,00,000. Calculate the

amount to be retained out of profit every year, if interest rate is
3% p.a. S - S
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B! fFREE @R 2,00,000 53 EUR 7=A4S @51 25 I =iy TR
B! SR 2R T3 | M ST T 3% T, (S0F ST “i9l S e R Bt

T Ffa AifFqe
9. Solve using Cramer’s Rule : 5
2x+3y+z=9
x+2y432=6
3x+y+2z=8
Or /g4
1 1 X 1
If (3W) A-_-[ ] B=[ }
, 2 -1 y -1
and (W) (A'+B)2=A2+B2’
- find the value of x and y. S

(x OF y 3 7 Fefa z=)

10. Prove that a" -b" is divisible by a-b.

A9 [ T a"-b", a-b 3R [
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Or /94t

A.M. of the following data set is 117.

Oe] TeremeE ALM. T 117

Weight No. of people
(eTm) (T2 7=
100 . 1
110 4
120 2
xX+25 2
140 1 .
Find x. - S
x fefg =41
11. Prove that ((Wysdl () ’ 5
2‘a a-b-c 2a
2b 2b b-c-al|=(a+b+c)’.
c-a-b 2c 2c

12. Three coins are tossed simultaneously. Find the probability of

getting at least two tails. S
3%t @ s WeFe I 29 | IATERS 201 WS SR (AR sifder o
=40 |
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13. What is correlation ? Explain with the help of a diagram, different
types of correlation. ‘ 2+3=5

FETE B2 @R Bax e RSy oieRt ALITTHAN G 39 |

14. Find the mean and standard deviation of the given datd : 5
Mg G e [{oer Refa ot ¢ -
320, 290, 265, 300, 270, 200, 315;

15. (a)

(b)

If A={2,3}, B={4,5}, C={56},
find (AxBYU(BxC). ' 4

awm A={2,3}, B={4,5}, C={5,6},

(AxB)U(BxC) ffa =1

Or / gt

-Out of 52 students, 20 play cricket and 16 play hockey.

10 students play both cricket and hockey. Find the number of
students who do not play either of the game. 4
52 &1 B foeas, 20 T @0 (U O 16 i & (S| 10 T

QG A (A (ACE | 2 IR IR ABIS (¥F (e Q@ At [efy
< | |

Compound Interest and Simple Interest on a certain sum of
money for 2 years are respectively Rs. 920-25 and Rs. 900.
Find the sum and the rate of interest. 4
(A R 2 T1E bagia 7O S T4 S N 920-25 T HiE 900
TR T, TR O e IR e =
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16. (a)

(b)

(c)

17. (a)

(b)

Calculate mean deviation from mean from the given data :

4
TR 291 mean deviation [T &= ¢
7, 10, 15, 22, 26
If mean=16, S.D.=50, find coefficient of variation. 3

I W =16, MFF o =50, 29 a1 [y o9 |

What measure of central tendency is appropriate in case of

open class interval ? 1

IS (W] SERETS (T (F@E o9l Ao @z weery e

A bag contains 10 balls numbered from 1 to 10. Find the
probability that a ball selected at random bears a number

that is a multiple of 2 or S. 4

@Bl (IS 10T IoT MR EE 1 (AT 10 AR #1301 W02 | S #7161 T
oSt TRl el 2 2 59 Gides WAl (AR Agifaer Fela o=

A pair of unbiased dice is thrown simultaneously at random.

Find the probability of getting

() at least a 6

(ii} a total of 9 points. 4
oI SHieTe qud ot aered gl fred w11 g |

() oS ICAS Gl 6 (AIRR

(i) e «fo R WA @R @EIFEET AT 9 (FA

Teifel i =1
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Or / 593t
Compound Interest for 2nd year on a certain sum of money
at 4% p.a is Rs 25. Find C.I. for 3rd year. 4
TR 4% oI TS (I eR ST T2 b 7o 2553 LA oA
I79 vaq@ o e e ‘

18. (a) Calculate Karl Pearson’s correlation coefficient. S

- ief ﬁw - A @S Wy |

=
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(b) Under what condition two matrices are conformable for

addition or subtraction ? I8
& v6e Pl (Tees (@t A Rieres wea ¢
(c) What are the suﬁsets of the set
A={1, {3,5},6}°7 2
Ool AR SoEOrIT o ¢
A={1{3,5},6}
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